
Controller, Programmer, Shroud Cover & Mounting
Hardware - TDX 3, 3 SE, 4 & 5

with TRRO/TRBKTS Option



Controller, Programmer, Shroud Cover & Mounting
Hardware - TDX 3, 3 SE, 4 & 5

with TRRO/TRBKTS Option
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1117240 Screw, Thumb (#10-32 x 1/2") 1 41

1137243-NLA NLA - Cover, Controller Rear Shroud
TRRO/TRBKTS

1 12
1113342-NLA NLA - Stand-Off (#10-32 x 3/4") 1 23
1117194-NLA NLA - Strip, Wiring 1 14

1056098 Locknut (#8-32) 1 25
1136897 Controller, MK690 1 16 A
1136898 Controller, MK690 w/ ACC 1 16 B,B1

1148360-NLA NLA - Controller, MK690 w/ ACC 1 16 C
1022597 Screw, Phillips Pan Head Tap (#10-32 x 3/8") 1 37

1113438-NLA NLA - 3Screw, Socket Head (#10-32 x 1/2") 1 28
1133754-NLA NLA - Bracket, Controller Mounting, Black 1 19

1127352 Screw, Phillips Pan Head (#8-32 x 1") 1 210
1139532-NLA NLA - Cover, Controller Top Shroud 1 111

1095489 Decal, Invacare 3-D Logo (2-1/2" L) 1 112
1114276 Screw, Phillips Pan Head (#8-16 x 5/8") 1 113

1113331-NLA NLA - Strap, Battery Plug Pull 1 114
60102824 Kit, Cable, Battery Extension 1 115
1139985 Programmer, MK6i Remote 1 116 D
1142215 Kit, MK6i Remote Programmer w/ SD Professional

Card & Card Holder (1813M6)
1 116 D

1139997 Cover, SD Card Slot 1 117
A - MK690 Controller used for All Non-Powered Seating except for the Formula TRE Powered Seating Systems.  
B - MK690 w/ ACC used for Formula CG , Formula Invisible Super Low Tilt and Formula PTO Plus Powered Seating 

Systems.   
B1 - part #1148360 is no longer required as a replacement for Base Only orders shipped before 1/19/06 because the software 

for part #1136898 was revised 9/12/07 to version 2.61a and now accommodates all Base Only orders that shipped before 
1/19/07 as well.  

C - Used for all Base Only orders. Discontinued 9/12/07, see part #1136898 as a direct replacement.  
D - The MK6i Programmer Manual (1141471) is not included and is strongly recommeded the guide be ordered or 

downloaded from Literature Fulfillment.  

NOTE:

 


